Subtracting Linear Expressions (A)

Simplify each expression.

—_

- (-p-1)-(-p-6)

[\

(8v-3)-(-8v-6)

w

- (-7n+5)-3(-3n+ 2)

N

- 5(c-7)-(c+3)

Ul

59w -3) - (7w +5)

[*))

7(a+5)-7(@+2)

Ry

- -9(-8t-9) - (8t-9)

o

- (m-1)-(4m + 2)

9. (9b +7) - (-7b - 8)

10. (-s) - 4(s - 6)
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Subtracting Linear Expressions (A) Answers

S

Simplify each expression.
- (-p-1)-(-p-6)
5

- (8v-3)-(-8v-6)
16v + 3

- (-7n+5)-3(-3n + 2)
2n-1

- 5(c-7)-(c+3)
4c - 38

59w -3) - (7w +5)
38w - 20

.-7(a+5)-7(a+2)
-14a - 49

- -9(-8t-9) - (8t-9)
64t + 90

- (m-1)-(4m + 2)
-3m - 3

. (9b+7)-(-7b-8)
16b + 15

- (-s)-4(s-6)
-5s + 24
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